
 

 
 Sentence Matching Questions – SBI PO Exam 2019 

 

 

 
 
 
 
 
 
 
 
 
 
Direction (1 – 10): In the following questions two columns(A and B) are given containing three 

Sentences/phrases. In first column, sentences/phrases are A, C, and E and in the second column the 

sentences/phrases are B, D, and F are given. A sentence/phrase from the column A may or may not 

connect with another sentence/phrase from the column B to make a grammatically and contextually 

correct sentence. Each question has four options i.e. (a), (b), (c), and (d) which display the sequence(s) 

in which the sentences/phrases can be joined to form a grammatically and contextually correct 

sentence. If no sentence(s)/phrase(s) of the first column connects with any of the 

sentence(s)/phrase(s) of second column; choose option (e).   

1. 

                Column A                 Column B 

A. The country is at the cusp of transitions B. perhaps more critical than others.  

C. People are rapidly moving out of rural to urban 
areas,  

D. through all of it, have an impact on the lives of 
all citizens.  

E. It determines who will govern the State, 
exercise executive power, shape the legislative 
agenda and, 

F. is in the middle of an economic transition. 

(a) A-D, C-F 
(b) C-F 
(c) E-D 
(d) A-D, C-F, E-F 
(e) None of the above 
 

2. 

                Column A                 Column B 

A. It is true that China, unlike other countries, has 
not asked 

B. the reaction that would have hurt it the most 
came from China. 

C. Even as international pressure has forced 
Pakistan into taking some action, only if 
symbolic, against terrorist organizations 
flourishing on its soil, 

D. China involved as a mediator between itself 
and India. 

E. Pakistan also made an effort to get F. from its old friend Pakistan during this crisis. 

(a) C-B, E-D 
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(b) C-D, E-B, A-F 
(c) A-F 
(d) E-B 
(e) None of the above 
 

3. 

                Column A                 Column B 

A. Almost all good uninterrupted forests were 
converted 

B. at the time when there was not much conflicts 
between parks and the pressure of 
development. 

C. Unlike many states, the forests have had 
strong political support, 

D. modern tourism started because of royal 
hunting expeditions. 

E. The state had a first mover advantage when it 
came to   

F. advantage of this public memory. 

(a) A-F, E-B, C-D 
(b) A-F 
(c) A-F, C-B 
(d) A-B 
(e) None of the above 
 

4. 

                Column A                 Column B 

A. No more evidence or dossier is required B. on Khan to prove.  

C. There is a strong linkage between the ISI and   D. Masood Azhar had tried to killed him. 

E. It is a tactical position adopted by F. in the case of Dawood Ibrahim.  

(a) A-B, C-D 
(b) A-F 
(c) A-F, E-B, C-D 
(d) A-D 
(e) None of the above 
 

5. 

                Column A                 Column B 

A. The political party to which the candidate with 
criminal antecedents 

B. required to publish information in this regard 
in newspaper.  

C. All that one has to do is to simply click a 
picture or to take a video and briefly 

D. belongs is also required to publish such 
information about the candidate, both on its 
website and also in newspapers.   

E. In a bid to dissuade leaders with proven 
criminal 

F. describe the activity before uploading it on a 
mobile application.  

(a) A-D, C-F 
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(b) A-D, C-F, E-B 
(c) A-B, C-D 
(d) A-B 
(e) None of the above 
 

6. 

                Column A                 Column B 

A. The women of Odisha will lead the way B. if India has to compete with countries like 
America and China and become advanced, 
then women empowerment is the only 
answer.  

C. The number of women voters has increased 
dramatically in 

D. in women empowerment in India.  

E. This announcement comes two days after F. Women comprising 35% of its lawmakers in 
Parliament. 

(a) E-F, C-B 
(b) A-D, E-F, C-B 
(c) A-D, E-F 
(d) A-D 
(e) None of the above 
 

7. 

                Column A                 Column B 

A. The social media platforms have assured the 
commission they would appoint grievance 
officers to take necessary and 

B. to be extra careful while posting content on 
social media.  

C. Some social media platforms and micro 
blogging sites 

D. prompt action against any poll-related 
violation and check fake news and hate 
campaigns.  

E. Political parties and their star campaigners 
may have 

F. verify important individual accounts in public 
interest and certify the same with a blue 
badge of authenticity. 

(a) A-D, C-F 
(b) A-D, E-B, C-F 
(c) E-B, C-F 
(d) E-B 
(e) None of the above 
 

8. 

                Column A                 Column B 

A. This larger caveat not  B. it must avoid any significant losses in the big 
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six states. 

C. It can be said with a reasonable degree of 
confidence 

D. Where the Opposition would be more 
interested in defending.  

E. The BJP will be able to reverse the trend and F. depend a lot on how it performs in what can 
be referred to as its big six states. 

(a) A-F, C-D, E-B 
(b) A-F 
(c) C-D 
(d) E-B 
(e) None of the above 
 

9. 

                Column A                 Column B 

A. It was Uttar Pradesh which had catapulted the B. despite having the highest vote share in the 
state.  

C. The Bihar results had an important message as 
the BJP lost the elections 

D. Uttar Pradesh victory was seriously 
challenged. 

E. The Gujarat election also saw the arrival of 
rural distress as a political issue, 

F. with the Congress performing significantly well 
in rural areas. 

(a) E-B, C-D  
(b) C-B, E-F 
(c) E-B 
(d) A-F, C-D, E-B 
(e) None of the above 
 

10. 

                Column A                 Column B 

A. The electoral competition is largely between 
political parties, and the party with the highest 
number of parliamentarians, 

B. shot up the charts as an electoral issue in the 
aftermath of the February 14 Pulwama terror 
attack.  

C. It would like voters to consider local  D. factors rather than focus on national 
leadership.   

E. National security has F. either on its own, or in a coalition, gets to form 
the government.  

(a) E-D 
(b) C-D 
(c) A-F, E-B, C-D 
(d) E-D, C-B 
(e) None of the above 
 

 



 

 
 Sentence Matching Questions – SBI PO Exam 2019 

 

 

Answers With Explanation:- 

Ans1. Option (c) 
Ans2. Option (a) 
Ans3. Option (d) 
Ans4. Option (b) 
Ans5. Option (a) 
Ans6. Option (d) 
Ans7. Option (b) 
Ans8. Option (e) 
Ans9. Option (b) 
Ans10. Option (c) 
 
 
 
 
 

 


